&)f avf avf

Ws EhABENTSLE=F Ws E AR S LVE=H Ws EABENSLVE=RN
Forest percentage= 84% Forest percentage= 84% Forest percentage= 84%
B5&h f B5&h f B5&h f
Ws EhABENSLE=R WEs EABRDSSLWE=S Ws EAHRFPSVE=R
Forest percentage=84% Forest percentage= 84% Forest percentage=84%
B5&h f ECEYY f B5&h f
Ws EhABRDTSLE=T1 Ws EABRDTSVE=81 Ws EhAHRFSVBE=F
Forest percentage= 84% Forest percentage= 84% Forest percentage= 84%
B5&h f B5&h f B5&h f
Ws EhABENTSLE=T Ws EhABEDSTSVE=S Ws EAEPSVE=R
Forest percentage=84% Forest percentage= 84% Forest percentage=84%
B5&h f B5&A f B5&h f
Ws EhABEDSVE=R1 Ws EABRDSSLE=8I Ws EABRPSVE=R
Forest percentage=84% Forest percentage=84% Forest percentage=84%
B5&A f B5&A f B5&A f

Ws EABRDSLE=81 Ws iEAnEDSLVUE=RH Ws EhAEHSVBE=R%
Forest percentage= 84% Forest percentage= 84% Forest percentage= 84%



